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Read the following instructions carefully before you open

the Question Booklet.

1. Immediately after the commencement of the
examination, you should check that this test booklet
does not have any unprinted or torn or missing test
booklet series (A/B/C/D) or items etc. If, so, get it
replaced by a complete test booklet from the invigilator.

2. Answers are to be marked in the given OMR Answer
sheet.

3. There are 60 questions in this test booklet. All are
compulsory.

4. Choose the correct answer from the options given for
each question and darken the corresponding circle with
black ball point pen in the OMR Answer Sheet. Do not
mark ‘v or ‘X’ in the OMR sheet.

5. All questions carry equal marks. .

6. Answers other than those marked by Black Ball Point
Pen will not be evaluated.

7. Roughwork can be done in the rough sheetappended
in the test BOOKLET at the end but not in the OMR
sheet/loose paper.

8, The answer sheet is not supposed to be folded or

mutilated in any way.

9. You are also not supposed to write anything on the
reverse of the answer sheet.

10.Please return the OMR answer sheet only to the
invigilator after the examination. You can retain the

test booklet.
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If reactant A undergoes a chemical change
to become product B, and approaches
equilibrium, the correct representation for the
rate of the reaction (A —»'B) is :
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EFGHIJKL are the vertices of a cube as shown
in the figure. The edges are made of copper
wire. :

A current of 2A is sent in at the vertex F and
a current of 2A is drawn out at the vertex L.
The arrows show the direction of the current
at each edge. The current through the edge

Jis:

| M
4

() ® A

© A @) A -
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Consider a planet whose mean distance from

the Sun is 4 times that of the Earth from the
Sun. The time taken by the planet to complete
a revolution around the Sun will be :

\

(A) 2 years (B) 4 years

© éyears (D) 16 years

Preparation of curd from milk is an example

" for conversion of :

(A) solution to colloid

(B} colloid to solution

(C) solution to another solution

(D) colloid to another colloid

P.T.O.
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Arigid rod AB ofvlength 2 metres is balanced
at its midpoint O on the tip of a wedge as
shown in the figure.

A O B
Y N

Masses of 1 kg, 2kg, 3 kg and 4 kg respectively
are suspended at points on the arm AO
starting from A. Each point is 25 cm from
the previous one. A single mass M is
suspended from B such that the rod remains-
horizontal. The mass M must be equal to :

(B) 75 kg
(D) 25kg

(A) 10 kg
(C) 5kg

Atomic weight of iron is 55.85 g per mole.
The number of iron atoms present in 5.585 g

of iron is ;
(A) 6.023x10%3 (B) 1.0x10%

(C) 0.6023x10% (D) '0.1x10%

A stationary siren emits a sound signal of
frequency 2040 Hz. A listener in a car moving
directly éway from the source hears sound
of frequency 1920 Hz. If the speed of sound -
in air is 340 m/s, the speed of the car is :

(A) 5m/s B 10m/s
(©) 15m/s (D) 20‘ m/s
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An object O is placed in front of a thin convex
lens which forms an image I as shown in the

figure.

e

The object distance is u and the image

distance is v. The lens formula is

where fis the focal length of the lens.

Which of the four v - u graphs below is

correct ?

v
(&) j
®) } :

©

v
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P.T.O.
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10.

11.

" (A) Pascal

The speed of sound in a gas of density d is
given by v = k/d where the unit of the
quantity k is :

(B) Degree Kelvin
(C) Newton (D) Hertz

One mole of an ideal gas is taken through
the path E - F = G — H — E in the volume-
temperature graph, as shown in the figure.

A
[} E ‘\’7 F
£
3 A Y
> -
H - G
O Temperature

Which of the following is correct ?

(A) The pressure does not change along the
" “pathE— F. -

(B) The pressure changes along the path
F — G and also along the path G — H.

(C) The pressure increases along the path
H—-E

(D) The pressure does not change
anywhere along the entire path

E-F->G—-SH->E.

The mass percentage of Cl in one molecule of

NCl, is (Molar mass : N,=28 g
and Cl,=71 g)

(A) 88.38% (B) 35%

(C) 13% (D) 14%
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13.

15.

12. In the circuit shown, each of the five resistors

has a resistance of 1 chm.

11

v
The current passing through the point P is :
(A). 05 A (B) 10 A
(C) 15A (D) 20A

Mass of 1 atom of oxygen is gram
(rounded to two decimal places). Given that
the mass number of oxygen is 16.

(A) 1.60x10~%
(C) 6.26x10~%

(B) 2.66x10°2
(D) 16.0x10~%

In a fusion reaction two isotopes of hydrogen
combine as given below :

2+ HR S o XA+n+Q
where n denotes a neutron and Q is the
released energy. The element X is :

(8) H
© L

(B) He
(D) Be

The number of moles present in 40 g of Helium

is {Molar mass of He is 4 g)
(A) 15 (B) 10
G 5 (D) 20

P.T.O.
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16.

17.

18.

19.

Renin converts angiotensinogen to

angiotensin and regulates the absorption of
water and Na* from glomerular filtrate,

Renin inhibitors are currently being used in
clinic to treat :

(A) Diabetes

(B) Blood pressure
(C) Cancer

(D) Thyroid

Cancer treatment by Chemotherapy or
Radiotherapy primarily damages :

(A). RNA
(B) DNA
(C) Protein
(D) Lipids

The response of a part of a "Touch me not"
plant to the touch stimulus is :

(A) Geotropism

(B) Phototropism
(C) Thigmotropism
(D) Chemotropism

Which of the following is a mammal that can
fly ?

(A) Penguin (B) Emu
(C) Shark (D) Bat
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20.

21.

22,

Classify the following reaction

AgNOy ) +Klag > Agl gyt +KNOjy )
(A) Combination reaction
(B) Decomposition reaction

(©)
(D)

Single Displacement reaction

Double Displacement reaction

Which of the following Instrument is used to
measure blood pressure ?

(A) Stethoscope
(B) Thermometer

©)
(D)

Sphygmomanometer

Spirometer

Match the entries in Column - I with entries
in Column-<1i :

Column - I " Column - II
(a) Androectum (i) Carpels
(b) - Gynoecium (ii) petals
(c) Corolla (iii) sepals
(d) Calyx (iv) Stamens
- Options :

(A)  (a)~(i), (b)-(0), (©-(iv), (d)-(i)
(B) (@G, (b)), (©)-6), ()-(i)
©  (a)=(it), (b)-(), (©)-Gv), (d)-(E)
(D) (@)~(iv), (b)-0), (c)-~(i), (d)-(ii)

P.T.O.
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23.

24.

25.

Neurons do NOT divide, because they lack :

(A) Mitochondria
(B)
(©)

(D)

Nucleolus i
Centriole :

Peroxisomes

When a larger proportion of a community is

immunized against a disease, the rest of the,

people in the community are benefited. This
is called : '

(A) nate immunity
(B)

©

Adaptive immunity
‘Herd immunity
(D}

Acquired immunity

Match the following entries in Column - I
with entries in Column - II{:

Column - I : Column - II
(a) Liver (i) - Neurons
(b) Kidney (i)  Hepatocytes -
(¢) Brain (iif) Alpha and beta
, cells
(d) Pancreas _  (iv) Nephrons "
Options : |

(&) @-(), B)-(iv), (O)(ii), (d)~(i)

VAL (a)-@, (b)-(v), (0)-(1), (d)-(iti)

©  (@-(), b)), (©)-(). (@-(v)
(D) @-(v), B)-(). (c)~(i), (d)-(i)
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26.

(2)

®)

©

(d)

Match the entries in Column - I with entries
in Column - I :

Column-I - Column-II
Neurotransmitter (i) Tetanus ¥
Hormione (H) Acetylcholine |
Aptibirotié (i) Estrogen YV
Vaccine (iv) Penicillin 3
Options : '

B @), -, @), @-0

(B)  (@)-Gv), (B)-(iD). (0)-(), ()i
©)  (@-(i), (0)-G), ()-iv), (d)-(1)
(D) (@)-{i), B)-(tv), (©)-{i), (d)-(iid)

Assertion (A) : An aqueous solution at

27.
~ room temperature with 1x107 1M
hydrogen ion concentration is basic in nature.
Reason (R) : The concentration of hydroxyl
ion in the solution > hydrogen ion
concentration.
(A) (A) is correct; (R} is incorrect
(B) (A) is incorrect; (R) is correct
(C) (A) is correct; (R) is also correct
(D) (A) is incorrect; (R) is also incorrect
28. Which of the following promote ripening of
mangoes ?
(A) Abscisic acid
(B) Gibberellins
- C) Ethylene
(D) Methylene
P.T.O.
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CMTSE-2024-11/ A

29. Match the following:-
Disease Causative Factor

(a) Down Syndrome (i) virus

(b) Sickle cell anemia (ii) auto-immune
disease

(c) Diabetes (iif) Chromosomal

aberration
(d) AIDS (tv) Mutation
Options :
(A)  (@)~(), (b)-(1), ()-Gv), (D-(i)
(B)  (@)-~(), B)-(iv), (c)-(), (d)-Gi)
© (@i, (b)), (c)-Gid), (d)-()
(D) (@)~(iv), (o)~(i), (¢)~(i), (d)~Gii)

30. IUPAC name of the following compound is
(CH,)CH(CH, — CH, — CH,)CH,CH,COOH
(A) 4-methyl-4-propylheptancic acid

(B) 4-propylpentanoic acid

(C) 1-carboxy-5-methylheptane

(D) 4-methylheptanoic acid

31. GPS consists of a constellation of

satellites.
(A) 8 (B) 24
€ 32 (D) 64



32.

33.

34.

Spssameuhmer rma PFd 2 sl

CUINBHESSTET &TTERTLIGET ?

(a) <greurywrer Fri@GUUDm, i
Seflywrer pri@Grupm Gurer
auanpanp ETiHs CofluaTssden

euerasl
(b) @rremieu REFIDPLINDHETS
oCrridy  priseaier o e
Ceigans ‘
(0 GeurCadaen 2L TG EMNS
HHC WSS TS

Qmirwefl, epevdfu-apuGsf,

2 gioraflu CurraseT fgmiebm e

(d)

ellemL_aem :

(@) wHpd ©

(B) (b) wpaid (d)
© (@), (b) wpgud (d)
(D)  (b), () opmId (d)

L&ETHLT &S eaghsrs Horus

Quéssans sMsgTT ?

(A) GariLg Gsmfemert SLES
wansE rdlyrs eleusrulisamear
GumprL 2ar&&eafGsmiT

(B) Qperel &L sSD@E erdlrrs Gred
erpUi e

(C) slLwbmuy QuEsENSS
Qg rirmidlermi

@ﬁ,@—@oma‘fma&mm

QUTLILILITE S(HS e

G anrsEs

 Epssar_eaupmer g %UAfssr-

Adlmbg mCrruuraihE Adluws-
uRSsULL L& ?

(A) Gsrglento

B) <=uflf

EOREICEE
girésanyeuenatls &Sliphi@

CMTSE-2024-1/ A
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33.

34.

32. Which among the following are the causes

of World War 17
(@) The growth of violent forms of
nationalism such as jingoism and

chauvinism

(b

Formation of alliances among
European countries for military support
(¢) The signing of the Ti:eaty of Versailles
(d) The dissolution of the German, Austro-
Hungarian and Ottoman empires
Options : ‘
(A) (@) and (b)
(B (b and (d)
(©) (@), (b) and (d)

(D) (b), (c) and (d)

Mahatma Gandhi took up the Khilafat issue
to:
(A) Inspire peasants to struggle against the
oppressive plantation system

(B) Campaign against Rowlatt Act

(C) Launch the Civil Disobedience
Movement .

(D) Bring the Hindus and Muslims closer
together '

Which among the following was introduced
to Europe from Africa ? '

(A)
(B)
©
(D)

Wheat
Rice
Sugarcane

Sweet Potato

P.T.O.



35.

36.

CMTSE-2024-11/ A

@

@;Q‘;Gﬁﬂ wreul L sdlayerer  Lyelidmen
Gambenu ersmsTs LS Qupng ?

(A) Qebweaflssd

(B) @@y 2 mEE56smid

©) @senpull il L. Brewrwukiser

Bhanser

EpésaT_upmer erenas  eSlwLBiD
Gur@mLen GsTLiymLW eursHulbd
(saspl) Sléde> 2

(a) Qgefeur LIBEM igd Nl Brb ey
&SHSIr BrLrs goms CQerereri-
UlLrgd shsrdlsnrs gl

CGfEsLLCLg).

(b) Ogefeur wrET_mL§ CsrLiHsy
Gapr & Werenar Gl Wras seme-
e gpm Lsn@ el Brd G
Gurglejen end BTLITE IHIWE.

(© Oger elwulpmlled <rfen erdir
sreold 2i6loflés pm igen Guimgmer-
gy wppb Ardflflsmes eribGs
SHDOPSF. \

QzneE efwlprd Curi eSyiser

Gamfléerr Gurt gpenpuled LLAHm;

aSl&aL1Iu L 1g (HBSeET.

ellenL_ser :

(A) (@) wpoD (d)

b) wpmid (d)

©
D). () (©) wpmii> (d)

() wpmD (d)
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35.

36.

Pulimankombai village in Theni district i
famous for: |

(A) Carnelian beads
(B) Iron smelting industry
©

(D)

Punch-marked coins

Hero Stone Inscriptions

Which among the, following are NOT true
about the events associated with the Vietnarr
War ?

(@) The Geneva Conference decided thas
Vietnam was to be an independeni
State but temporarily divided.

(b) - Following the Geneva Conference,
South Vietnam became a Communist
State with Ho Chi Minh as the
President.

() South Vietnam's survival depended on
the support from USA

(d) The fighters of South Vietnam were
trained in guerrilla warfare

Options :

(A)  (2) and (d)

(B) (b) and (d)

(©) (9 and (d)
(D) (®), (9 and (d)



37.
(2)

(b)
©

(d)

38.

39.

L)

Spasasupenn FAwursl QUTHSSs.

Geol_Lem © Grren-

D L &1L GenG AevCar
“arGyr

eoureflwisefler  ({H) wWwehs

@enar GuyrSler

Bamer Gleudil

“IBebed <DiTITEnL (i) pCareda

AL Q&smye’

Qsratens

Gzl Gersellavl  (iv) Apmhieden

Clegitoetr

2 enLpLILITETH SL &

D. emevGleuedt

ellemL &6 :

(@G, (-, (©-6v), (-
(@), (51, (©-6), (@)-6)
© @), B)-6), (-6, (@)
D) (&)-G), ()-G), (-6, (@)

SpssarTLcupmier rHg Qe s rer
S| eieiCILIFEIL SLDEDLOWIMTITE) FHIeUbISLI-
ULt g ?

| STLOETEI

(B) Gwllymey evL_medTLm_
© @pHu Gosubsen

(D) Ggemafipflu Clouded

spssam. sBlpsl uGHsattedr ermig
&Gg8 Brmelils slu sntluafl 1906 gpib
SpE(H FlURISULILL g ?

(A) Slgbugb

@ sssce

(C) sSTRSLUTG
(D) Glgmev

CMTSE-2024-11/ A

37.
()

(b)

(d)

38.

39.

15

Match the following :

The Lateran Treaty (i) Francisco
' Pizarro

Spanish Conquest (i) Munich

of Inca Empire

’Good‘Neighbour’ (i) Mussolini

policy "

The National (iv) Franklin

Socialist German D.Roosevelt

Workers Party

Options :

(A)  (@)-(id), (b)-(1), (©)-(iv), (d)-(i)
(B)  (a)-(i), (b)-(iid), (c)-(iv), (d)-(1)
©  @-(v), B)-(0), (c)-(), (d)-(H)
(D) @-(), (b)-(v), ()-(1), (d)-(i)

Which among the following newspapers
was started by Annie Besant ?

(A)
(B)
©
(D)

Commonweal
Madras Standard
Indian Patriot
South Indian Mail.

In which among the following places in
Tamil Nadp, the Swadeshi Steam

Navigation Company was established in
1906 ?

(A) Chidambaram '

(B) Thoothukudi (Tuticorin)

(C) Tharangambadi (Tranquebar)
(D) Madras '

P.T.O.



40. &peumeauaieupenp Fflwrs’ QUTmSSIS. | 40. Match the following.

(a) Gluesr @QG;)IJ’ @) smHden (a) Mare's Tail () V'Vind speed }
QITEO&ET GeusLd

(b) sTHH i) < evslCreSiwm (b) Anemometer (ii) Australia |
Geuswmail

() smom Gl (i) e () Leeward side (i) Rain shadow
LI&&LD DN MG LI region

195Gaab
(d) efeved cflavedl (iv) Soms (d) Willy willy (iv) Cirrus clouds
: CLoshi&er '

eflemL_ger : Options :.

(*"}) (@)-(ii), (b)-(1), (c)-(iv), (d)-(ii) (A)  (a)-(iid), (b)-(i), (c)-(iv), (d)-(i)

(B)  (a)-(id}, (b)-(iii), (c)-(iv), (d)-() (B)  (a)-(ii), (b)-(ii), (0)-(iv), (d)-(i)

&) @), ©-0, -, (@-6) © @), B0 -G, @)

(D} (@)-(id), (b)-{tv), (€)-(1), (d)-(ii) ﬂD) (@)-{i), (b)-(iv), (c)-(0), (d)-(iii)

41. GemlLr préLi G&smes s 1D GsTemm | 41. Which of the following rebellions led to the

:.‘BWI]’GUDTLD[]’BSUQ@‘L?)‘EJ Qerrﬁ'#sﬂ eTgl ? ' Chotanagpur Tenancy Act ?

(A) SEEHTEM HOAUFTRIGET "(A) Deccan Riots
. Q.pswn_n' FleTiréd) ’ * (B) Munda Rebellion

(C) Cared dlemmdd (C) Kol Revolt

(D) &lumd sesb ’ (D) Sepoy Mutiny

CMTSE-2024-11/ A ' 16



42,

43.

44,

Heweumeuameudmer erg  Gwerfuw
GurrsLer AsmryerLw FRwrens
iy ? -

@ epdreust Quarflwul Gurrems
BlmeSlermiv

@ epHrEeUsT UssLEESDE LBl
ApG, gl WeDIEES BFTUTE
Sflwenamrenuis FOBSTT

(i) &l.qp. 268 -Qe0 FHATGELSBSS
Wpg  Cesrar  flueman
Cuiplarmi.

(iv) Gwerflwirser, euL @pg‘,]urraﬁ]su
L8 QAsig s axsAwur
(OGNS GULDSHE T

ellemL_&er :

(i) L

B ) whpd @)

© @) @) wppid @)

(D) (), (i) i (i)

WereueuaraupBled ereney  sRwrs

Cummbsedeana ? '

(A) Quengeor - QFer S eorargd
BGrrLL b Q@RS -

(B) eomlugLi - euL. cvmu'_surrafmq'.és
BCrmiLib GlLI(pISL_6d |
endGUrO® - LFEL FFEHEL G
BCrmlLib

(D) Cupa - @pdwd
g Credllw  GLHRISL6
BGrmL b

UGl YETHLD 2_0F LDEEET CgTans

‘r_r,rrc;h

-0 2anEfssiu®Eps).
(A) sevl. - 11
Gelibur - 11

(B
@ oPame - 11

(D) mewmeufl - 11

CMTSE-2024-11/ A

42,

(i)

)

Which of the following statements are true

about the Mauryan empire ?

(i) Chandragupta established the
‘Mauryan Empire.

(i) After becoming a follower of Buddhism,

| Chandragupta abdicated his throne in

favour of his son.

Ashgka succeeded Chandragupta in

268 BCE.

The Mauryas were the first of non-
Kshatriya dynasties to rule in Northern
India.

L Optioﬁs:

(A) Only ()

" (B) (i) and (i)

" (O) " (), (i) and (iv)

43.

44.

17

. (A) Benguela =

{B) Labrador -

(D)

(D) (). (i) and (i)

Which of the followmg is not correctly
matched ? '

South Atlantic
"Ocean

North Atlantic Ocean

- Current

: I_-Iumboldt -

(C) Mediterranean Sea
- Current
(D) West '~ Indian Ocean
' Australian

Current .

The 'World Population Day is observed on
every year.

(A) .11t August

-(B) 11th September

11th July
11th January -

©

P.T.O.



45. &Qésass&uﬁ_eufrbmm slwral Qurmss)s.

(@) @rmur_ @) Quieden sreveaflw
enameu rprh

(b) <Lbdf&sar i) Qerrfll Gumr

(¢) G (iii) &sHATL

ST mGlarl. ‘IrsL_esiid
(d) srwev Qmuirgear (iv) Cslieis
S r&fenlnd

CsmLnG
eSlemL_ser :
(A) (@), B, (©-Gv), (-0
(®). @), )0, ©-Gv), (@-Gi
O @), B, -0, @G
(D) (@), (b)-(i), (-G, (D-()

46. emaumeuamaudmaT CQFTled wIomHE;-
GUSD(G 2SHEUTEUET CTeNGU ?

(A) deusTwusdpsrer o draf@Hamer

2 (HAUTEGSHD

(B) Geuemen @Jrru'_u_'u_{ésa;smm 2 (IHeUN&HE-
Fed

Q) uyduw 2 MU e b

2_([HEUTEHGS 60

@ ellauamutgfled 5#@&;@&3%1)6151
OB BSIBEMET GEDDSHED
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45.

Match the following :

(a) Robert Clive (i) Berlin Colonial

Conference
(b) Africa (ii} Battle of Plassey
(¢) Marie (ili) Declaration of
Antoinette Independence

(d) Thomas Jefferson (iv) Divine Right Theory

46.

of Kingship

Options :

(A) (@), B)-(i), (9-Gv), [@)-6)
(B)  (@)-(i), (b)~(i), (0)~(iv), (d)~(iii)
©) | (@)-(tv), (b)-(id), ()-(i), (d)(iii)
(D) (@)-(v), (b)-(ii), (c)-(ii), (d)-(i)

Industrialization does not help the
following :

(A) Generate inputs for agriculture

(B) Generate employment

(C) Generate new methods of production

(D) Reduce use of pesticides in agriculture



47. Hgl wGsrsr uHPu o aTemwLIrem

Fnenpd sl g,

(A) B  wGsrsrellamer Hmssbd
QaiwGeaur sdag BlrreflssCour
wriflohisaeameus@ &b
o cur(h.

(B) wrhleonsareaneuuler sl HmEsH
gnarear upenGlirifle|sener D&EET
Deneu Hm&EETaTer Gouanr(hid.

(C) HE wCGsrsrency wrHleBISTENG-
Wer @liLsed @erdl ST 6

— TOMSCETETET (PIITE).
H& wGergrency wrHeokisaTenel
RULSD @amdl wéseTanel FhmS
GlameTar (piglLb.

48. SpssamLsubmiet, NOTA DBl seupirenr
GMleu sl Bls.

(A) e85 49-0
2014

(C) ) Gaullumerirgenar Hapbuls Gumib
2 flenwo

(D) UWlenenam eumd@LiuSle| @uibSrid

49. demeumeuareummler @bHwiredlen smra-
Hlenay ereueurm Guwifliu’ Hereng ?
(A) Sjwer warrLe Fr& srevflane
(B HeopfasCsr (hé smeoblane
SWET DRTL® LIHeussrons
&reniblanen -
(D) 185 Swemnaé STeblene

50. L&LIT Iomiig e @sh Skl ereriieul :
&ghdr Cumrm_L ey

(A
L Feps 2 Menwols Gumrpref

€ Qe s LararanssE@ erdlyren
UL FWImerT
(D) Gumyrmerdl

CMTSE-2024-11/ A

47.

48.

49,

50.

19

Identify the true statement about the Money

Bill.

(A) Rajya Sabha can amend or reject the
Money Bill.

(B) Lok Sabha is required to accept
amendments to the Money Bill from
Rajya Sabha.

Lok Sabha cannot pass the Money Bill
without the approval of the Rajya
Sabha.

Lok Sabha can pass the Money Bill
without the approval of the Rajya
Sabha.

(D)

Point out the wrong choice from the folléwing |
options about NOTA.

(A) Rule49-0

(B) 2014

(©) Right to recall

(D) EVMs

Which among the following is labelled as
Climate of India ?

(A)
(B) Equatorial Climate

(C©) Tropical Monsoon Climate

Tropical humid

(D) Temperate Climate

Dr. Martin Luther King, Jr., was a :
(A) Freedom fighter
(B) Civil rights leader

(C) Anti-apartheid campaigner

(D) Revolutionary

P.T.O.



51. Qe @assd Qardaiens Gerupmliu L | 51,  Apartheid was practiced in : .
Br »

(A) gurtiGe o "~ (A) Zimbabwe

. Qg ear :%ILII_CI]I‘.ﬂéEJT'.‘A. o | (B) South Africa -
(© @sénur . o (©) Kenya
(D) &wemwr . - | - (b) Ghana

52. Slemeubeuameupmier Sifluignit reuL1b | 52.  Ariyalur District is known for the fo]lo'wing

ahss Qpmfld QsrElyse Quuwir Industrial cluster :

Quibmg ? _

(A) Opsay LHmD edamsssh. . B (A) Textiles and power looms
AGLoeir S @ Cement

© e o . (©) Turmeric

(D) siF&asbgmplD ‘ (D) Printing

53. 2 @fld s ey Frene eluggiser | 53. Which is the cause of highest rate of road

gHUL WPSEW STremrd : accidents in the world ?
Gy S5ed (B eurEeLd @L@G\Jgj (A) Drunk driving
(B =dGausd _ .\ (B) Over-speeding
(©) ' aursen erefmentléEans ea:gﬁa;ﬁﬂq | (C) Traffic congestion
(D) &L s ;r;aml_@emmuu(aggmﬁeﬁ . (D) Lax enforcement
Glogged :

54. . CGugsfler amppliug aps ayrsas | 54. Whlch article is known as the heart and soul l

QA srflwued enolnler Qswib- of the Constitution according to
DML pemor erer PHlwuiLGEng ? Dr. Ambedkar ? |
(A) eorbs 19  (B) osrss 14 (A) Article 19 (B) Article 14

©) earss 21 \/\,« ayrés 32 () Article 21 (D) Article 32

CMTSE-2024-1l / A o 20



'55.

56.

57.

(emeu(heUemeUDMIET SEUDTENG 6Tl ?
(A) Q8mfld QsmElLseT eumrLmSsL]
oL yelllwue ugHseEns@er
S| LDHEICTETE.
(B) Gsrfler Qargliyser Gurrg;jmrrsm
sHapow LTS Qsradamen.
(C) Gsmfle GsrElysdr Qurgerer
. GETAl B LIkISeneT CuhmeTere.
@ Ggrfle Qprelyseid o drer
~ Ggmflarerisdr LwGeum) G‘Imrr@g,

Smestsener Qumgjsnmsmr

“gHlumeler QLLgmi®)” erar CFaranen

Simp&slLIBeugl ere 7

(A) @reanhn Quilu psrEiser.

airsar GErflOsusEEnsE LD

T Qubmene.

€ @Gevs updlu Ber curermGmeTL
QupmeTeTe.

(D) Erem®id e () LDSSET GUT(LPLD
B)L_BISET.

@IBAHLITEND 6THS UM CUTEHEIBIGETTE)
Qs oeme]  Fremw  elUSHEET
goupdlemen ? '
(A) BSleuetrig
(B) apenm 5557 UTHELD

8\ FHST EUTEELD

(D) &pmibsl

1Yemeupeuemeunmer e Glauicouir-

saofléd @) : _

(A) GQurg AEGurs Gurmlseamer
QULPTEI (BB ED.

(B) eugplomar eufl edlflGsed

€ uewd ABFCUTESMS RUHHIG-

LOSEISD
&G 2 mlnbentsatler eretmemts-

& s SLOULBHSSHISW®
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55." Which of the following is NOT correct ?
(A) Industrial clusters are located in a
-defined geographic area

(B) Industrial clusters share a common
market

(© Industrial clusters have similar
technologies

(D) Industrial clusters have employees

| having different language skills

56. Why is Chennai nicknamed the “Detroit of
Asia” ?
(A) Because both are large cities
\/{B) Because it is known for having large
auto industrial base
(C) Because both cities have a long history
of music

(D) Because both cities are cosmopolitan.

57. Identify the category of vehicles involved in
the Jargest number of road accidents in India.

(A) Bicycles

(B) Auto-rickshaws
'+ AC) Two-wheelers’

(D) Cars

58. Which of the following does not constitute
the functions of government ?
(A) Provision of Public Goods

(B) Impose income tax_. -
(C) Regulate money supply

\/ (D) Regulate family size

21 , P.T.0.



59.

19\ ébreui(ipeu aeUDMIET SeUpTens) era ?

(A)

-E

60.

(©)

(D)

Leeyuiltenly LT STULF FLLLD,
2002 sT([H wLOML Qubes
QUATTTRIGEMET LITEISTESSH DS

uoguifeny urgaTiyE FlLLb,
2002 sr@RsEr P SHMDG
505EIng.

GCaélw ugeno Silmu g1 b, 2010
SOMESLND LTHETSSH DL
sTh&Eamenyd QIHeNs eUTERIGEET-
b urgsrgse Gurarmeunenm
2 1" Clsrem(perars.

QUem UTg&TUL &L tb, 1980,
srHsamer JPSsH0E Henl
Ceige) LWHMD STHSET ADOTS

Lu@Hsalcdd WrD eueTiHame
sar&&LILIHGHISD GurarmelDHen
o " QaremBereng).

19 etral(HeueTeuDMIeT Senieng 6Tl ?

(A)

(B)

(©)

-

uenrsSlen Coaneu HMID eflenavdiE
GenGw QsmLimy 2 awm(
BESureld LSTLrHn apenn
QBTLIHE 2 eTems.

<15% Gauenad aumiiiyy cugdl, LewrL
Lp&Es5ms SeTEss GlFuiub.

Cgmflerarisermed, LamliLLp&sid

T AEAE 60

-000-
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59. Which of the following is NOT correct ?

60.

(A)

(B)

©)

(D)

Biological Diversity Act, 2002 provides
for conservation of biological diversity

Biological Diversity Act, 2002 checks
deforestation.

National Green Tribunal Act, 2010
provides environmental protection,
conservation of forests and natural

resources.

Forest Conservation Act, 1980 checks

deforestation ~ and  promotes

afforestation of non-forest areas.

Which of the following is NOT correct ?

(A)

(B)

©

Money supply and price are related

Barter system continues to exist in India

High employment level increases

meney supply
Large labour force will increase money
supply 1

-00o0-
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